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. . Multiple True - False ( K-Type)
Multiple Choice Formats ( MCQ)

A B Cc
« One-best-answer 1,23 1,3 24
Conventional ( A type) Traumatic arteriovenous
Matching ( B type ) fistula produces ---- B2l
Extended matching ( R-type ) 1. a wide pulse press

True / False 2. increased cardia Correct
3. dilatation of the le e  Answer
Complex or Multiple true / false ( K- type ) ventricle

Simple true / false ( X-type ) 4. pulmonary hypertension [ m
( MCQ_CHK

Multiple True- False ( Simple, X-Type)

| Serum electrolytes include [ICIE) Grave - Yard of MCQ’s

Options Answers

A. sodium
potassium

albumin TRUE - FALSE FAMILY

chloride

globulin




Answer

Conventional ( A type)

Extended matching ( R - type)

MCQ_CHK

One Best Answer( A- type ) 2006

The following data were collected at the endpoint
of a titration performed to find the molarlity of an

HCI solution.
Volume of HCI used = 14.4 mL m

Volume of NaOH used = 22.4 mL
Molarity of standard base (NaOH) = 0.20 M

Which of the following is the molarity of the acid solution”?
1. 0.13 M

2. 031 M
WL Options
4.1.60 M
5.6.10 M

MCQ_CHK

ltem Sets

Agriculture : Economics
21. Which panel in figure 5-2 shows the effect of an increase in the
price of apples, other things constant?

Figure 5-2

() b (© (@ (&)
Oranges Oranges Oranges Oranges Oranges

A

Apples Apples Apples Apples

Midterm Exam.( ECON 1101)

One -Best Answer (A- type) 1961

The most effective prophylactic
agent for the prevention of
recurrence of rheumati

A. acetyl salicylic acid

B. para-amino benzo

C. adrenocorticotropic hormone
D. sulfadiazine

i Correct answer

MCQ_CHK

Extended Matching Questions

Theme: Drug adverse effect
Options: (6-25)

Acetaminophen

Aminodarone . Penicillin

ACE inhibitors . Prednisolone

Aspirin . Procainamide

Bleomycin . Propranolol

Furosemide . Sulfasalazi

. Metronidazole . Tetracycline

For each patient, select the drug most likely to have caused the adverse effect

1. A 56-year-old man with recurrent ventricular arrhythmia began taking an
antirrhythmic drug 5 months ago.He now has progressive dyspnea,cough,

Nitrofuradantin

and low- grade fever. ESR is increased. X-ray film of chest shows a diffuse
interstitial pneumonia. Pulmonary function tests show decreased diffusing

capacity for carbon monoxide.
A 62-year-old man with chronic obstructive pulmonary disease begin
therapy with an antihypertensive drug. Two weeks later,he has marked

worsening of dyspnea and clearly audible wheezing. (o). (T

Item Sets

Figure 5-2

(@ o © It (@)
Oranges Oranges Oranges Oranges Oranges

£

Apples Apples Apples Apples

23. Which panel in figure 5-2 shows the effect of an increase in the
price of oranges, other things constant?

Panel a

A.

. Panel b
6 Panel ¢
D.

E.

Panel d

. Panel e




Shape of a well constructed
MCQ question

Shape of 1961 Constructed Question
Short Stem and Lead-in: a question or
incomplete statement ( mostly recall )
Long Options ( Responses )

MCQ_CHK

Shape of a Well Constructed Question

Long Stem: consisted of a clinical case and all

relevant facty

Lead-in: a focused question
A.

Short Options
( Responses )

Incomplete sentence, Short stem,
Long & non-parallel options ;

Diffusion hypoxia :

A. occurs during induction period

B. Is caused by hylothgne

C. [ can be preventes 3y giving 100% oxygen
for 5-10 minutcs at trie end of anesthesia

D. may occur again in a few postoperative
EVE

E. is precipitated by prostigmine

MCQ_CHK

One Best Answer ( A-type) 2006
Stem

A patient with an injury to the gluteal region has
difficulty rising from a seated position and straightening
his trunk, but he has no difficulty walking on level ground
or flexing his legs.

Lead in
Which of the following muscles is affected ?
Option
* A. Gluteus maximus
. Gluteus minimus
. Hamstrings
. lliopsoas
. Obturator internus
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One — Best - Response ??

guadlwsunaglugil buffered aspirin H1as Aa
A. AaAN55EANELARY
B. LANAANAIAA

C. WWNN1SAAT

Q‘fl"a A uaz 12 B

E. 4@ A, B, uaz C
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Steps in Constructing MCQ

Constructing Relevant MCQ Items

6. Write the stem

7. Draft the lead - in

8. Create a the correct answer
9. Compose the distracters

10. Edit to avoid hints and clues

Constructing Relevant MCQ Items

1. Construct each item to assess a
single written objective

2. Preparing a table of specification

3. Sampling the appropriate contents

4. Constructing application of knowledge

question
5. Choose an appropriate context ( task)

for the question

Learning Objectives and MCQs

Clear and concise \ Clear and concise
learning objectives g McQ

potentially deliver

L . I
earning Objectives MCQ

Assesses
performance student
performance

Predicts student

Boston University, Office of Med.Ed.,2005

® Construct each item to assess
single written objective

" s = o c; U oo s
UNANYILLWNEUN 5 ﬁ']ﬂ»l']‘iﬂsl‘ﬁﬂ']i?uﬁlﬂﬁl

H (3 4 ”
staphylococcal pneumonia Tuinls

* Preparing Test Specification
( Blue Print)




Knowledge Construct :
Inferences from Sample to Domain

Domain of
Knowledge

Test Itens
Sample Domam

Steven. M : U. of lllinois at Chicago

Approximate % of Examination

VI. Agricultural Engineering Principles 23%
A. Core Agricultural Engineering Knowledges 13%
1. Applied fluid mechanics
2. Psychrometric processes
3. Heat transfer applications
4. Structural and Materials Analysis
s. Mass and energy balances
«. Water relationships
B. Equipment Applications
1. Pump applications
2. Fan applications
3. Sensors, instrumentation, and control systems
C. Professional Practice
1. Engineering practice including knowledge of Canon
of Ethics, engineering economics, communication,
role of codes, standards and specifications

Total

Examples

Example 1
Topic: Turner’s syndrome
Context: Physical examination

An 18-year-old woman presents with primary amenorrhea.

Which of the following signs best support the diagnosis

of Turner’s syndrome?

A. Hypertension

B. Hirsutism

C. Short stature

D. Epicanthal folds

The National Council of Examiners for Engineering and Surveying
Agricultural Engineering Examination

Approximate % of Examination
1. Soil and Water 19%

A Hydrology 6%

1. Principles of hydrology

2. Open channel hydraulics

3. Hydrogeology

4. Principles of surface and subsurface drainage
B. Soil Conservation Systems

1. Principles of soil physics

2. Soil mechanics

3. Sediment transport

4. Erosion control and slope stabilization
C. Water Management

1. Water quality

2. Evapotranspiration

3. Principles of nutrient management/loading rates in soils

Constructing Relevant Test ltems

®* Choose the appropriate topic
and context ( task) for the

question

e Constructing Application of
Knowledge Questions




Revised Bloom’s Classification
2003 Application of Knowledge Questions

d9LAT12H (Creating ) Higher

UszeiiuAn (Evaluating)
Order Apply knowledge and / or judgment

el (Anabyeng) e to a realistic situation
istic situati

i1 lU14 (Applying) Lower
12118 (Understanding ) Order Thinking, Understanding

A21341 (Remembering ) Thinking .

Basic Science Recall Item Stem : Electrical Engineering | Recall

What area is supplied with blood by the aaaanaun( field coil ) Tuiasassudinluii
posterior inferior cerebellar artery ? nszuanss Muimudala

Basic Science Application of Knowledge . g uINuNLHEN
A 62-year-old man develops left-sided limb
ataxia, Horner’s syndrome, nystagmus, and loss
of appreciation of facial pain and temperature
sensation. A. USUSEAULIIAY
What artery is most likely to be occluded ?

2. nyusRdusuInwsimanialfiinusoafiou
et

3. Meluawinusiindn KliAnusensehinduenaln

. AU

Problem-solving

Objective: Identifies the correct application of principle

Comprehension

Objective: Identifies the effect of changing a parameter
(rule using).

A pendulum consists of a sphere hanging from a string. What
will happen to the period of the pendulum if the mass of the
sphere is doubled? (Assume that the effects of air friction and

the mass of the string are negligible, and that the sphere traces In the diagram above, parallel light rays pass through a convex lens
o n N and converge to a focus. They can be converge made parallel again
an arc of 20°in a plane as it swings.) by placing a :
A. It will increase A. Concave lens at point B
B. It will decrease B. Concave lens at point C )
C. Second convex lens at point A

*C. It will remain unchanged D. Second convex lens at point B
D. More information is needed to determine what will happen. ** E. Second convex lens at point C




Shape of a Well Constructed Question

| A 9 ¥ ] Long Stem: consists of a clinical case and
e all relevant facts. Includes all
information

A 2-year-old boy has a 1-week history of edema.
Blood pressure is 100/60 mmHg, and there is generalized
o Wr‘“’ing a S"'em edema and ascites. Serum concentrations are: creatinine
0.4 mg/dL, albumin 14 g/L, and cholesterol 570 mg/dL.
Urinalysis shows 4+ protein and no blood.

Criteria for Good Test Items

Stem :
Focuses on concepts than trivial facts

Phrase stem as clearly as possible

Include all information that you have to
repeat in each answer option

Sufficient information

Avoid extra language o Wr'i'l'ing Lead-in

No more lecture

Criteria for Good Test ltems

Writing a Lead - in

* Base each item on a specific problem stated
clearly in the stem.
» Using “Which of the following?”

» Use “focus” lead — in
» Use a clear Lead- in

Poor Example
California :
A. Contains the tallest mountain in the United States

i . B. Has an eagle on its state flag
“ Can examinee answer before reading

C. Is the second largest state in terms of area

the responses ?”

. MCQ_CHK

** D. Was the location of the Gold Rush of 1849

MCQ_CHK




Criteria for Good Test ltems

Better Example :

Which of the following is the main reason so many
people moved to California in 1849 ?

A. lts land was fertile, plentiful, and inexpensive
** B. Gold was discovered in the central part of the
state
C. The east was preparing for civil war
D. They want to establish religious settlement

MCQ_CHK

* Writing Options

Criteria for Good Options

Homogenous, parallel in content
o Only one correct answer (objectivity )

o Non-controversial

> Responses similar in length, grammatical
construction
o Include most of the information in the stem

> Responses should rarely exceed one line

MCQ_CHK

Lead - In : One-Best- Response ??
» Which of the following is the most likely cause ?

+ Which of the following is the most likely
explanation?
» Which of the following statements is correct ?

» Which of the following statements is true ?

» Which of the following statements is false ?

« All of the following statements are true

Shape of a Well Constructed Question

A. Short Options

RE DU <
B.
c. Allinformation

. Hemolytic- uremic syndrome

. Minimal change nephrotic syndrome

. Henoch-Schoenlein purpura with nephritis

. Acute poststreptococcal glomerulonephritis
. Focal and segmental glomerulosclerosis

MCQ_CHK

Application o
MCQ




Principles of Biology |

Tun1snisudassinmia 3 carbon d1uau 1 Tmaqa watihly

aSetmanglas UfiSen Calvin cycle szsaafinduiisau

1. 1 5au

2. 2 sau Comprehension ( rule using )

.3 59U

4. 4 sau

MCQ_CHK

B 9.1.2.1 Renal / Urinary System: Normal Process;

Urine/plasma osmolarity

10
Urine flow rate
L/min

The graph shows urine/plasma osmolarity versus urinary flow rate
in a healthy human subject. Which of the following most likely produced the
change from Xto Y ?

A. Oral ingestion of 1 L of water

B. Oral ingestion of 200 mL of an isotonic sodium chloride solution
C. Oral ingestion of 200 mL of a hypertonic sodium chloride solution
D. Oral ingestion of 200 mL of a hypertonic glucose solution

E. Injection of ADH (vasopressin)

MCQ
A \MCQ

Physics

P1 and P2 are the pressures exerted at the bottom by water
columns (height 10 cm) in each of two tubes with surface areas
of 1 square centimeter and square centimeters respectively as
shown below

Which of the following is the pressure P2 ?

(A) equal to P1

(B) 2times P1

(C) 4times P1
(D) half of P1

An outbreak of food poisoning in a student cafeteria
was investigated and the results are shown :
Ate a Did not eat a
particular food particular food
Food Total ’;ll? % Total ';llf %
CIiIZ 133 97 729 25 2 8
Salad 121 88 72.7 37 11 29.7
Sgndwi 44 1 9.1 147 98 667
Soup 98 59 60.2 60 40 66.7
Which food was most probably contaminated ?
Chicken
Salad
. Soup
. . Chicken and salad
Chicken, salad and soup

Which of the following parasites / ova and
clinical features is mostly matched?
Parasites / Ova Clinical features

Heavy infection produces rectal prolapse

Chronic diarrhea is a primary symptom

Manifestations occur during lung
migration

Symptoms include pruritus ani and

sleeplessness

Disseminated infection occurs in
immunodeficient patients

MCQ_CHK

MCQ ; Physics

A large truck breaks down out on the road and receives a push back into
town by a small compact car as shown in the figure below.

While the car, still pushing the truck, is speeding up to get up to
cruising speed:

(A) The force with which the car pushes on the truck is equal to that
which the truck pushes back on the car.

(B) The force with which the car pushes on the truck is smaller than
that which the truck pushes back on the car.

(C) The force with which the car pushes on the truck is greater than
that which the truck pushes back on the car.

(D) The car’s engine is running so the car pushes against the truck,
but the truck’s engine is not running, so the truck does not push
against the car.

(E) Neither the car nor the truck exerts any force on each other.

Kansas State University; KS 66 500




English MCQ ( Part C: Expression)

Questions 47-49

Peter:  Hi, Jerry. I'm calling to ask if you’d like to get together for
lunch sometime this week.

Jerry: Great. ___ (47) ___ Wednesday at Fuji.

Peter: Oh,I’'m busythen._(48)__ ?

Jerry: Friday? That’s fine with me. What time?

Peter:  Eleven-thirty? It’s not so crowded then.

Jerry: Eleven-thirty on Friday. __ (49) .

Peter: Ok, I'll stop by your office.

47. 1) That sounds fine 49) 1) That sounds good to me
2) Let’s make it 2) That would be impossible
3) That’s right 3) Thank you for calling
4) Let’s go 4) Thanks anyway
1) Is it Friday?
2) What day is good?
3) How about Friday?
4) Are you OK ?

English MCQ

Set 2: Sentence Improvement

Having been an avid fan of music for most of her life, the

elderly woman found learning piano very easy.

life, the elderly woman found learning to play piano
very easy

life, learning to play piano came very easily to the
elderly woman

life, the elderly woman was able to learn to play piano
very easily

life, it was very easy for the elderly woman to learn to
play piano

life, and the elderly women found learning piano very
easy

Principle of Crop Production
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Principle of Crop Production
wHAIR N
1. waasfddin

Mutually 2. wnaslaififigsa

Exclusive

o

3. unashiidinuazlaifidin

Longest :
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Principle of Crop Production

unasnUselo Incomplete question, U@

. gaannaulile

1. unasdmasunadeu
2] unasiiuunassiinauduainis uan‘fl'a

d o a o o
3. unasiluamsuazudnamriganvwnisgl g

= =  a
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[ 9 o  as @ a o a
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wisuulasszuauingsasnssuausnysaandngsiadaniy

Double negative

No stem, Non-focus lead-in, ?Jl'ﬂoplionu,ﬁ”n
R N9 I‘1 ‘1;‘1 ﬁ;/
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JayudnudeAn  sHAIYT 202205

. unumaswa — wealwungn

Mutually
exclusive

)

2. unuamwAsATW — waitu ]
3. unu AW — ReAssA

« UNUINAHLNA - Aganan

Hematology: Blood types, Genetics

Children of a blood group A father and

group B mother, can have the following
blood groups EXCEPT

group A

group B

group O

group AB

none of the above | Double negative
Reverse truth

MCQ_CHK

Topic: TsAnnelazuinis

Keyword: Jadantedonudulsaaan  Level: Interpretation

o o oa 9 9 o
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g Tudorniagiuanadiuduiaymanntu
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Second lecture

0] 25u5lnA
WURILAZTAININISINNUILDINST
UNINNUDILTENENAAANAIU

ANBNAAINAI9T UNFDI WULL

Un options usamaulails

Electrical Engineering |

ananaun( field coil ) Tuta3asrininlninszuanss vin

od o
wilfimudala
dle o
n. Tdasrequrnusivnan
2. ‘limguﬁ'mhu wanudndniialiiinussaiaumiaati

A. Tdnaususzaunsnu

U

[a. 1 Aaneluaurnusiindn mliiAausenseirivanan

Long options
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Electrical Engineering |

o o o =& o V]
Tumsléiasasindinlnfnszuanse Avausaciiu
aunudimaniialifiinusaadaunideanii aisazldanain
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n. Imanduy ( field coil )

applicati
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Physics Il
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Calculus lli

selddayaselUiinaumanada 17 -19

fmuald Yy =2y

17)  aunsivayNudauALY vualiituaunisaiala

1. gunisuanmauilsla( separable)ifisiea

2. ﬂum‘imnﬁuﬁ( homogeneous)m

3. aunnsuanaaulsla ( separable), @un151@NWUS( homogeneous)
uazann1sidadu( linear) 3 options

4) gun1suanmauilsle separable ) aun191BaL&Y (linear) uag
ANNTUNUATI (exact) 3 options

5) ﬂNﬂﬂiLLﬂﬂﬁ'}LLﬂﬂﬁ( separable) ANNTLANWUS( homogeneous)

WAz ANNISUNUASY (exact) 3 obtions

Physics Il
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(Fansan) mﬁauﬁ'ﬁmwrﬁ'la'u%nmﬁiwmu"lwﬂwﬂvmwaﬁdzﬂ Jolauaasiiaiduniangndas
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Calculus lli

selddayaselUiinaumanada 17 -

=2y
X

fmuald Y

17) & a‘@amgﬁ'uéé’uﬁuﬁnﬁaﬁﬁ’mum”lﬁlﬂuﬂu REE DRI
1. gunsuanmauilsla( separable)iisaasinaimian
o g e O£
2. ANN15L1ANWURE( homogeneous) LWEIRENALALD

3. gunisuansuilsla ( separable), #un15I@NWUS( homogeneous)
UWATANNISLBILEU( linear)

4) aun1suanmauilsle (separable) axn19I@AU( linear) uag
ANNTUNUASY ( exact)

5) 4 ﬁa‘LLEInm"’nl.tﬂa‘"Lﬁ( separable) Numﬂanﬁué( homogeneous)

WATANNITUNURTY ( exact)

Calculus lli

sslddayasaluiinaua
y'=2y
X

fnunld

o

17) anmadsayRusauauiniie
uanaauilsle ( separable)
LANWUS ( homogeneous)
wansandsla  anius waz \@adu( linear)
4) wanmudsls [ Badu uaz wsiumsa( exact)

5) waneanlsla anius waz wlunss
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